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(1) Use the Cosine Rule to find the lengths 𝑝, 𝑞, 𝑟 
and 𝑠 in the triangles below. Give answers to 3SF.

 
(2) Use the Cosine Rule to find the lengths 𝑝, 𝑞, 𝑟 
and 𝑠 in the triangles below. Give answers to 1dp. 

 
 
(3) Use the Cosine Rule to find the size of the 
largest angle in the triangle below. 

 
 

 
(4) In ∆𝐴𝐵𝐶, < 𝐴𝐵𝐶 = 64𝑜, 𝐴𝐵 = 27.6𝑐𝑚 and   
𝐵𝐶 = 18.5𝑐𝑚. Find the perimeter of ∆𝐴𝐵𝐶 to 3SF. 
 
(5) In ∆𝐷𝐸𝐹, 𝐷𝐸 = 11, 𝐷𝐹 = 10  and 𝐸𝐹 = 8. Find 
the size of < 𝐷𝐸𝐹 to 1dp. 
 
(6) A triangle has side lengths in the ratio 3: 5: 6. 
Find the size of the smallest angle in the triangle. 
 

(7) Find the value of 𝑝 in the diagram below. 

 
 
 
(8) Find the value of 𝑝 in the diagram below. 

 
 
(9) Fred walks in a straight line from his home on a 
bearing of 042𝑜 for 6 miles. He then stops and 
walks 4 miles in a straight line on a bearing of 
132𝑜 before stopping again. Finally, he returns 
directly home. Find the total distance he walks. 
 
(10) The triangle below has side lengths 10, 2√21 
and 𝑥. The angle shown is 60𝑜.  
 

 
 
(a) Use the Cosine Rule to show that 𝑥 satisfies the 
equation 𝑥2 − 10𝑥 + 16 = 0 
(b) Hence find the value of 𝑥. 
(c) Find the size of the largest angle in the triangle. 
 
(11) The regular pentagon 𝐴𝐵𝐶𝐷𝐸𝐹 has perimeter 
35.4. Find the length 𝐶𝐸 to 3 SF. 

(12) ∆𝐴𝐵𝐶 is an equilateral triangle. Find the exact 
value of cos < 𝐶𝐴𝐵 

 


